Grundlagen: Nullstellen von Winkelfunktionen - Losungen

1. f(x)=2sin>x-5V2sinx+4
> 2sin®x -5v2sinx+4=0 |:2 >sin?x-$/2sinx+2=0
Subst.: z=sinx > 2> -$2242=0>2z, =52+ /B -8 =5 20+32
>z, =242 oder z, =%\/§ >Riicksubstitution: sinx =242 oder sinx =%\/§

>sinx =2v2 hat keine Lésungen
- Nullstellen: Xq; =% +2kn Xg2 =31+ 2kn

2. f(x)=4cos(2x-1)-2
2>4cos(2x-1)-2=0 [:4>cos(2x—-1)=
> 2x-1=2+2kn oder 2x—1=35n+2kn
> Nullstellen: Xo; =2 +2+kn=102+kn Xp, =3+2n+kn=312+kn
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3. f(x)=38sinx—cosx-3

> 3sinx-cosx—3=0-> Subst.: [cos x =y1-sin®x
2> 3sinx—y1-sin®x -3=0 |+y1-sin®x 2 3sinx-3=+1-sin® x | Quadrieren
>9sin®x-18sinx+9=1-sin?x |-1+sin®x >10sin®x-18sinx+8=0 |:10
> sin? x-18sinx+0,8=0- Subst.: z=sinx
>2z2-18z+08=0 > z,=1 oder z, =0,8 > Ricksubstitution: sinx =1 oder sinx =0,8
>X,=%2+2kn X, =0927 +2kn X, = 2214+ 2kn
->Probe: fir 2> 3sinf-cos3-3=0->3-0-3=0 wahre Aussage
far 0,927 > 3sin0,927 —c0s0,927 -3=0 > 24 -0,6 —3 =0 falsche Aussage
fir 2214 > 3sin2,214 —c0s2,214-3=0->24+0,6 -3 =0 wahre Aussage
> Nullistellen: Xg; =% +2kn Xgo = 2,214 + 2knt

4. f(x)=2cos2x—-2sinx
>2c0s2x-2sinx=0 |:2->cos2x —sinx =0 > Subst.: [cos2x =1-2sin®x
>1-2sin®x-sinx=0-> Subst.: z=sinx > z?+1z-1=0

-z, =7 oder z, =-1->Riicksubstitution: sinx =} oder sinx = -1

>X =2+2kn X, =gn+2kn X;=3m+2Kkn

—>Probe: fir £->2cos{-2sint=0->1-1=0 wahre Aussage
fur 21 >2cos$n—-2sin2n=0->-1-1=0 falsche Aussage!!!
fir $n>2cos3n-2sinfn=0->-2+2=0 wahre Aussage

- Nullstellen: X, =%+ 2kn Xgp =21+ 2kn
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